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1) 32-3x4+5=

2) 40-80:(4x2)=

3) 18:3x6+8=

4) (58-18):5x2=

5) 37-17+8x0=

6) B3+1)x7+6=

7) 18+46+12+4-=

8) (42 +28):10+17 =

9) 40:5+5-(12:4)=

10) (41 + 12) + (24 - 6) =
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1) 32-3%x4+5= 32—42+5 = 20+5 = 25
—8 10
2) 40-80:42= 40-86+8 = 40-10= 30
—— 36
3) 48+3x6+8= 6x6+8 = 36+8 = 44
—40__ 8
4) 68-18):5x2= 40+5x2 = 8x2 = 16
0 20
5) 37-17+8%0= 37—47+0 = 20+0 = 20
4 28
1 1 T ' Y - |
6) B+DIxT+6= 4nF+6 = 28+6 = 34 Honsonh ons s tinm s bososs mam e Hioat
30 50
7) 18+46+12+4= 18+12+26+4 = 48+12+46+4 = 30 + 46+4 = 30+ 50 = 60
70 7
r  —
8) 42+28):10+17= Zo-10+17 = 7+17 = 24
—3 8 13
9) 40:5+5-{2+4)= 40+5+5-3 = 8+5-3= 13-3 = 10
53 18

1 —
10) 4++12)+ (24-6)= 53 +{24—6) = 53+18 = 71
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